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SURVEYING-I

frutia ww : 75 & [3TfRrhad 37 : 70

Time allowed : Three Hours] [Maximum Marks : 70

AT () FYFFE IHAGE 8, I 7 @ frd vig & IR A |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) §eA% F97 & Y1 YT H1 FHAR T G 57 Bl |

Solve all parts of a question consecutively together.

(iii) X% F¥7 B 79 78 @ IRE i1 |

Start each question on firesh page.
: (iv) g1 YT9T3T § 37 517 %1 117 7 3 gare & a8

Only English version is valid in case of difference in both the languages.

1. (i) greehi afa ) uferfya Hifs |

Define term Magnetic dip.

(i) WA I AT |
State the objective of surveying.

(ifi) S HME § ST 1 AT B ?
What do you mean by chain correction ?

(iv) TREIRE TEE HEl Hm 4§ foran s & ?
Where reciprocal levelling is used ?

(v) HHFE 30 H e 8 7

What is the importance of contour interval ? : (2x5)

(1 0f 4) P.T.O.



2.

CE204 " (20f4)

(i) i gaenr giet o1 slia gagmor & SR SHHTST |
Explain the various compensating errors in chain surveying.

(i) S RNH % T B GHY ot S aref FrasfR w eueE |

Explain the various precautions to be taken while selecting a chain station.

Differentiate between the following :
(i) eeh ITRITR U Feed AR
Magnetic meridian and true meridian
(if) =g AT Td et Hrerme
Closed traverse and open traverse
(iii) SR W@ Td IgaTe Wl
Base line and check line
(iv) JTUTEe Ud Uge HTeliehd
Fore sight and back sight

@) e 3 7 e fafty ve san—weTa R i SerEw & GHET |
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(6+6)

(3x4)

Explain with example height of instrument and rise and fall method in lavelling.

(i) Eae feagee 1 wws foa g SHrifafy eS|

Explain the working with neat diagram of surveyor compass.

(6+6)

@) aﬂamqq@ aﬁ@qaﬁwwﬁw,mﬁnwaﬁﬁaméfmavhm|

- Describe in brief with neat sketches removal of obstacles to both chaining and

ranging. -
(i) e feeree o wremEn H = feprm ferfie -
The following bearings were taken in running a closed traverse :

W wkeEd v feam

(Line) (Fore bearing) (Back bearing)

AB 80° 10" 259°0'

BO . e 301° 50"

) 170° 50' 350° 50

PE 230° 10" 49° 30"

EA 310° 20" 407 15
HIARET % 3=<:5hIT T ST |

Compute the interior angles of traverse.

(6+6)
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6. (i) qc1Faed agluv ol e STeed qereur it fafl vt R | wHesT |

Explain process of differential levelling and profile levelling.

(i) T ) wemar @ garE tan i fafieaisn 1 3eog il |

State the various characteristics of contours with neat sketch. (6+6)

1) e e 3 R o fafir faferdt ot i Bif |

Describe the various methods of orientation of plane table

(i) Te a1 foer s rifafy smems |

Explain the working procedure of Abney level with sketch. ‘ (6+6)

8. dftye feurforat fafau -

‘Write short notes on :

(i) @ fogwwen
Two point problem
(i) o= w1 e
Elimination of parallax
(iii) SThAT WNTE TS MY

Curvature eftect and correction (4x3)







